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1. Write ydur Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any Five questions.
3.  The distribution of the marks is given with the question.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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. (a) Enumerate the new Monetary and Liquidity
aggregates. Explain how they are differentiated
not on the basis of attributes of the instruments

but on the nature and functions of the institutions

issuing such instruments?

(b) Discuss the statement that “Complete Currency
multiplier determines how much currency holdings

increase due to change in monetary base”.

(9+6)
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2. (a) () Explain briefly how the money multiplier can

be made invariant to changes in cash reserve

requirement?

(i) What happens when banks resort to

discretionary finance from the Central bank

and maintain excess reserves?

(b) Using the money multiplier approach, explain the

money supply response to changes in the following

variables
(1) Fall in (C/DD) ratio
(i) Fall in (TD/DD) ratio

(iii) Decline in reserve ratio

P.T.O.
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(c) Consider the following data -

Required reserve ratio = (.20
Excess reserve ratio = (.05

Deposits = Rs. 400 Billion

(1) What are the total banking system reserves

(required + excess)?

(i) The Central Bank cuts the required reserve
ratio from 0.20 to 0.15 in order to augment

the liquidity in the system. What will be

the new level of total reserves?

(iii) If the deposits increase from Rs. 400
Billion to Rs 500 billion, what is the amount
of incremental reserves the banking system
needs to maintain the initial required reserve

ratio of 0.20? (6+3+6)
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(a) “Equity contracts are subject to a particular type
of moral hazard called Principal-Agent problem”.
Discuss the above statement and the tools to solve

Principal-Agent Problem.

(b) Consider a put option for a unit of Asset ABC
with a strike price of Rs, 150, If the option price
is Rs. 5 and the current price is Rs. 150, contrast
the long put position with the short put position

using a table and graphs. (7+8)
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(a) As the market interest rate falls, the price of a
debt instrument sold on discount basis rises.

Discuss the statement with a suitable illustration

and diagram.,

(b) Distinguish between discount yield and yield to
maturity? Which is a better measure and why?

Calculate the discount yield and yield to maturity

P.T.O.
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of treasury bills that matures in 365 days with a
face value of Rs. 10,000 at the following purchase

prices.
(i) Rs. 9500

(i) Rs. 9000 (7+8)
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5. (a) Using the loanable fundg theory, discuss the
statement “the default rigk premium can be

illustrated by the difference between the interest

rate for risky loans and the interest rate for default

free loans”.

(b) Determine the short and long term interest rates

under segmented market hypothesis. What is the

rationale for the hypothesis? (9+6)
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6. (a) In India, banks are the main conduits through which
monetary impulses are transmitted to the real
economy. In this context review the bank’s lending

rate system since the early 90s.

(b) Compare and contrast the policy response to the
banking crisis that started in 1997 and in the

aftermath of 2008 Global financial crisis?

(9+6)
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(a) Explain the goals and instruments of monetary

policy in India.

(b) What is flexible inflation targeting in India? Discuss
the Operating framework of monetary policy under

flexible inflation targeting in India. (6+9)
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(a) What is unconventional monetary policy?
Discuss the key features of the unconventional

monetary policy measures and their applications

in India,

(b) Explain how Lags can be a constraint in monetary

policy making. (916)

P.T.O.
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